
Pre-Calculus        Name: _____________________________________ 

HOMEWORK: Section 12.1 

 

 

In numbers 1 & 2, use each table to find the indicated limit. 
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For numbers 3 – 8, construct a table to find the indicated limit. 
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For numbers 9 & 10, use the graph of f to find the indicated limit. 
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x 1.99 1.999 1.9999 2.0001 2.001 2.01 

f(x) 7.0202 7.9920 7.9992  8.0008 8.0080 8.0802 

 

x -0.03 -0.02 -0.010.01 0.02 0.03 

f(x) 2.9960 2.9982 2.99962.9996 2.9982 2.9960 

 



 

 

13. The graph of a function is given.  Use the graph to find the indicated limit, or state that the limit does not exist. 
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14. The graph of a function is given.  Use the graph to find the indicated limit, or state that the limit does not exist. 
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15. The graph of a rational function is given.  Use the graph to find the indicated limit, or state that the limit does not exist. 
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